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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) Answer may be written éither in English
or in Hindi; but the same medium should
be used throughout the paper.
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(c) Answer any five questions.
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(d) All questions carry equal marks, 15 marks each.
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Provide an overview of the Macro economic
developments in the Indian economy from a
medium term perspective and review the problem
areas that need policy attention.
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Bhagwati and Panagaria are of the opinion that
if the labour reforms are implemented they
would accelerate the growth in formal sector
employment. Do you agree ? Give reasons in
support of your answer. Briefly state what other
benefits, if any, do you see from the
implementation of labour reforms ?
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How far do you think indirect reforms such as
exchange rate reforms and lowering of industrial
tariffs impacted Agriculture growth ? List some
of the challenges that need to be met if
agriculture is to be taken forward ?
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“Greater integration of domestic industries with GPN
(Global Production Networks) must form an essential
part of the Make in India initiative.” Discuss.
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Do you agree with the view that there is much
less scope for India to make major gains in low-
skill or low-tech products because it is likely to
face an incumbency disadvantage relative to
China and other low-cost producers in Asia ?
Give reasons in support of your answer.
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“It is not the amount of exports, but the
technological content and sophistication of
exports that matters.” Critically examine the
above statement in light of the claim that both
in manufacturing productivity and product
complexity India is far behind global leaders.
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